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QUESTION 1
Which two statements are true about BPM Suite product architecture? (Choose two.)

A. The Process Asset Manager is a container of reusable, shared, implementation assets available to all processes
within a BPM project.

B. Business architecture modeling is supported by a third-party product that Oracle resells as part of the BPM Suite 12c
product family.

C. BPM Suite leverages SOA Suite infrastructure and tooling to support key design-time and run-time features.
D. case Management is an Oracle add-on product to add adaptive case management support to BPM Suite.
E. BPM Suite supports BPMN process modeling notation in both BPM Process Composer and BPM Studio.

Correct Answer: AD

QUESTION 2

Value chain models allow you to specify more details about a process area that may have been identified in an
enterprise map. Which two statements are true about how the details are specified in a value chain model? (Choose
two.)

A. A value chain model is the starting point for process decomposition in business architecture modeling.

B. A step can be broken down into a separate value chain model to create a hierarchical group of value chain models.
C. It documents goals, objectives, and strategies for a business area.

D. A step can be linked to a BPMN process model.

E. There is typically just one value chain model for an entire organization.

Correct Answer: B

Reference: http://docs.oracle.com/middleware/1213/bpm/bp-composer- user/ ba_project_bpmcu.htm#BPMCU99994
(4.1.2)

QUESTION 3

Which pattern is best handled by using Adaptive Case Management?
A. straight-through processing requiring no manual intervention

B. deterministic, human-centric processes

C. knowledge-based work requiring collaboration
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D. application integration processes

Correct Answer: C

QUESTION 4

Which two statements are accurate descriptions of how process data objects or project data objects are used? (Choose
two.)

A. A process data object can be based on either a basic data type or a complex data type.
B. A process data object is associated with a module where it resides.

C. One of the main benefits of defining process data objects is that you can configure Business Process WorkSpace
views to display their values.

D. Project data objects are not used to share data values between processes.

Correct Answer: AD

Explanation: Basic and complex data types can both be defined as either process or project data objects.

Although project data objects allow you to define data objects that are used by all processes in a project, they are not

global data objects. Each process within your project uses its own version of the data object. Project data objects are
not used to share data between processes. To share data between processes, you must create data associations.

QUESTION 5

Which two statements are true about installing BPM Suite in a production environment? (Choose two.)
A. You must run the Repository Creation Utility (RCU).

B. The SOA/BPM infrastructure is typically supported by a managed server.

C. You typically run the SOA/BPM infrastructure on the admin server.

D. The JDeveloper Installation from a Quick Start default domain installation cannot access the SOA/BPM infrastructure
running in a production installation.

E. The compact installation domain could be used in a production environment.

Correct Answer: AC
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